PAYMENT WHILST ON LONG SERVICE LEAVE

LSL pay when hours have varied or payment is made at casual rates (therefore not paid during school vacation periods).

Determine the average hours worked for the period of service being used.  The average hours are determined by aggregate the total hours worked for the period and dividing by the number of weeks in that period.  For example:

Person taking 1 month in LSL will require 3.33 years service.  Within that 3 years service the person worked 1500 hours.  Therefore 1500 hours divided this 173.8 weeks (3.33.years) = 8.63 hours per week payment whilst on LSL.

NB:
Employees being paid casual rates and therefore not paid during school vacation periods must have an average determined over a full year i.e. 52.18 weeks.  For example:

Person taking 3 months LSL will use first 10 years of service as follows:

3 years at 10 h.pw for school year (41 weeks)  =   1,230 hours

7 years at 12 h.pw for school year (40 weeks)  =   3,360 hours

                                                                                __________

                                                                                 4,590 hours

4,590 hours divided by 521.8 weeks (10 years) = average of 8.8 hours payment at current casual hourly rate while on LSL.

PAY IN LIEU OF LSL ON CESSATION OF EMPLOYMENT

Payment is made against remaining service for which LSL has not been taken.

· Calculation of PILF where there has been no variation in time-fraction and the employee is paid a part-time or full-time salary

Formula

Total number of years service not used for LSL

_______________________________________       x    annual salary immediately prior to cessation

                                   40

Example:

               7.92 years *

________________________        x           Annual salary at cessation of $33,000     =       $6,534

                      40

*
First 3.33 years of service have been used to take 1 month LSL in 1999

· Calculation of PILF where there has been variation in time-fraction and the employee is paid a part-time or full-time salary
Determine the average hours as in the example above and from that determine the annual salary of the employee based on that average time-fraction and the current rate of pay.  Then apply the same formula as above.

Example:

In the example above the last 4 years of employment are full-time.  The 3.92 years prior to that were at 0.5.  The first 3.33 years used for the 1 month LSL already taken is not relevant, as payment for that period of LSL would have been at an average time-fraction for the first 3.33 years.  

Average hours for 7.92 years is:

4 years at full-time = 208.7 weeks  x  38 h.p.w  =      7,930.6 hours

3.92 years at 0.5     = 204.5 weeks  x  19 h.p.w  =      3,885.5 hours

                                  __________                             ____________

                                   413.2 weeks                            11,816.1 hours  =  28.6 h.p.w  average

28.6 h.p.w is an average time-fraction of 0.7526

Current full-time salary of $33,000  x  0.7526  =  $24,836

Calculation

                 7.92 years

_________________________    x     $24,836   =    $4,917.53   

                      40
· Calculation of PILF where the employee has been paid at casual rates (no payment during school vacation periods)

The same formula above is used except you substitute the years of service for aggregate hours for the period of service and substitute the annual salary for the hourly rate the employee was receiving prior to cessation of employment.  The formula is

Aggregate number of hours of paid work

_________________________________    x     hourly rate immediately prior to cessation                                                

                             40

Example:

12 years service on casual rates as follows:

3 years at 10 h.pw for school year (41 weeks)  =   1,230 hours

7 years at 12 h.pw for school year (40 weeks)  =   3,360 hours

2 years at 14 h.pw for school year (41 weeks)  =   1,148 hours

                                                                                __________

                                                                                 5,738 hours

Calculation

          5,738 aggregate hours

____________________________  x  casual hourly rate $16.08   =  $2,306.70

                          40

